




















0 Sydney 1320 Railway Road Meadowbank NSw 2114  OBrishane 4854 Zillmere Road Zillmere QLD 4034
Fostal Address: Locked Bag M3 Meadowbank NSW 2114 Postal Address: PO Box 542 Virginia QLD 4014
Telephone: (02) 9807 6166 Facsimile: (02) 9808 2033 Telephone: (07) 3863 0749 Facsimile: (07) 28632 0796

O Melbourne 35 Dissik Street Cheltenham VIC 3182 ORockhampton =hop3, 76 Hollingsworth St
- . Telephone (03) 95322 1233 Facsimile (03) 563 3502 Morth Rockhampton QLD 4701
A dvision of CMI Operatlons Pty Ltd O Perth 36 Division Street Welshpaol WA 6106 Postal Address: PO Box 1124 North Rockhampton QLD 4701

ABN 87 088 279 270 Telephane: (08) 9268 1788 Facsimile: (08) 9358 1733 Telephone: (07) 4921 0978 Facsimile: (07) 4921 0981

Electrical
Products

For all account enguiries Phone (02) 8378 1320 Fax (02) 9808 4977

Termination and Maintenance Instructions for No.2 to No.5 Gland Assembly
& Threaded Gland Adaptor

The equipment is certified IECEx TSA 13.0009U (maximum operating temperature 150°C).
It is recommended that the equipment is overhauled at intervals that do not exceed the requirements of AS/NZS2290.1.
and maintained to the requirements of AS/NZS3800 & AS/NZS1747 by suitably competent persons.

Installation
e  Confirm components suitable for application e.g. grommets suitable for cable.

e  Gland fitting cable preparation.
1. Slide the gland cap, neoprene cone and gland body along the cable.
2. Prepare the cable to the dimensions required.

NB. For strip back dimensions for Bolted Couplers or RGB’s see their specific Termination & Maintenance instruction.
Cables with semi conductive phase screening shall have the semi conductive screen removed back to the outer sheath.

e  Coupler/ RGB / Gland Adaptor fitting
3. Care should be taken not to damage the flamepath area.
4.  Slide the neoprene cone into position and bolt the gland cap firmly to the body.
Minimum torque of gland cap screws and nuts is 25.0Nm. Minimum torque of gland adaptor screws is 10.0Nm.

5.  Test as per the requirements of AS/NZS1747.
6. Gland Adaptor entry threads M25 to M75 have a pitch of 1.5mm and M85 to M110 have a pitch of 2.0mm.
7. Armoured Gland threaded studs are to be fixed into position using Loctite thread locker.

e  Connection of Protective Earthing Conductors
e This range of glands has facility for earthing conductors up to 952 mm.
e Itisthe responsibility of the installer to determine and fit the correct sized earth conductors.

NB. Consideration should be given to using a strain relief anchor on the cable to prevent the cable from being pulled from the back of the
plug, if cable is subjected to tension.

Use

e |solate power before connecting or disconnecting.
Assembly

e Bolt gland assembly & gland adaptor using M12 x 35 special fasteners
Disassembly

e  Remove M12 x 35 bolts to separate.

Maintenance
e Inspection shall include cleanliness and compliance with certification documentation.

e Check as per AS/NZS2290.1

Overhaul and Repair
e  To be carried out by suitable workshop.

Conditions of use
e Some flameproof joint (flamepath) have dimensions that are different than the values given in tablel of IEC60079.1.

Refer to the manufacture’s drawings for details.
e The special fasteners used to assemble the gland shall be minimum grade 4.6 (minimum yield stress 240MPa).

This brochure is distributed with the understanding that the authors and editors are not responsible for the results of any actions taken on the basis of the information in this work, or any errors or omission. Further, Minto
Industrial Products is not engaged in rendering professional services. Minto Industrial Products expressly disclaims all and any liability to any person in respect of anything and of the consequences of anything done or
omitted to be done by any such person in reliance whether whole or partial of the whole or any part of the contents of this publication. All rights reserved. No part of this work covered by copyright may be reproduced or
copied in any form or by any means without the written permission of Minto Industrial Products.

am
TCG-1 No.2 to No.5 Glands & Threaded Gland Adaptor Termination and Maintenance instruction oS eny
RevB 02/05/2018

"4y
‘PO
©
=]
=

i) )
r minto oAFLEX CABLES sables ®umm~n cABLES
GIobaI-Malk.l:om.au@

Gua;,—,’



O Sydney 1820 Railway Road Meadowbank NSw 2114  OBrishane 4854 Zillmere Road Zillmere QLD 4034
E|ectrica| Postal Address Locked Bag M3 Meadowbank NSW 2114 Postal Address PO Box 642 Virginia QLD 4014
PFOdUCtS Telephone (02) 9807 5155 Facsimile: (02) 9308 2033 Telephone: (07) 38632 0745 Facsimile: (0728632 0795
QMelbourne 35 Dissik Street Cheltenham VIC 3192 ORockhampton Shop2, 76 Hollingsworth St
Telephone: (03) 9532 1233 Facsimile {03) 2553 3502 Marth Rockhampton QLD 47071

A division of CMI Operations Pty Ltd

ABN 87 088 270 270 O Perth 25 Division Street Welshpool Wa 8108 Postal Address: PO Box 1124 North Rockhamptan QLD 4701

Telephone: (08) 9358 1788 Facsimile: (08) 9268 17332 Telephone: (07) 4921 097 & Facsimile: (07) 4921 0281
For all account enquiries Phone (02) 8273 1320 Fax (02) 9208 4977

Termination and Maintenance Instructions
150A Spigot Gland Adaptor (F-3370)

This Gland Adaptor is certified to IECEx 13.0009U for use with a CMI certified bracket (AV1) and CMI certified No 2 to 5 Glands.

Installation
e  Confirm Gland Adaptor is suitable for application e.g. cable size.
e  Gland Adaptor fitment:
Check all surfaces for damage that may prevent assembly
Check and clean all mating parts, O’ring and threads
Place O’ring in allocated groove on Spigot Gland Adaptor (Figure 1)
Insert all four M12x 40 mm bolts into Receptacle mounting holes
Assemble Receptacle onto Bracket by aligning and inserting bolts into corresponding Bracket holes
Place Adaptor plate surface with O’ring onto opposite side of Bracket and align four threaded holes
with corresponding Receptacle bolts
Fully fasten all bolts into Adaptor. Tightening torque 20Nm (min)
8. Continue assembly of Receptacle or Gland by referring to relevant Installation Instructions

Sk W=

~

M12 x 40mm BOLTS
4 PLACES

O'RING
GROOVE

14

Use
e [solate power before connecting or disconnecting.
Assembly
e As per Installation notes (above)
Disassembly
e  Detach Gland from Gland Adaptor
e  Unfasten all M12x 40 mm bolts and remove Receptacle from Bracket
e  Continue disassembly of Receptacle and Gland by referring to relevant Installation Instructions
Maintenance

e Inspection shall include cleanliness and compliance with certification documentation.
Conditions of use

e To be attached to suitable certified Receptacle and Gland

This brochure is distributed with the understanding that the authors and editors are not responsible for the results of any actions taken on the basis of the information in this work, or any errors or omission. Further, Minto
Industrial Products is not engaged in rendering professional services. Minto Industrial Products expressly disclaims all and any liability to any person in respect of anything and of the consequences of anything done or
omitted to be done by any such person in reliance whether whole or partial of the whole or any part of the contents of this publication. All rights reserved. No part of this work covered by copyright may be reproduced or
copied in any form or by any means without the written permission of Minto Industrial Products.

2200 Man,
> "

TGA-7 Spigot Gland Adaptor Termination and Maintenance instruction Page 1 Lo

RevA 27/03/2018 & %
3 E
8 2

(l“\ra minto odu o AFLEX CABLES PE cables @HMTLAND CABLES
- Global-Mark com.au®



O Sydney 1820 Railway Road Meadowbank NSw 2114  OBrishane 4854 Zillmere Road Zillmere QLD 4034
E|ectrica| Postal Address Locked Bag M3 Meadowbank NSW 2114 Postal Address PO Box 642 Virginia QLD 4014
PrOducts Telephone (02) 9807 5155 Facsimile: (02) 9308 2033 Telephone: (07) 38632 0745 Facsimile: (0728632 0795

QMelbourne 35 Dissik Street Cheltenham VIC 3192 ORockhampton Shop2, 76 Hollingsworth St

Telephone: (03) 9532 1233 Facsimile {03) 2553 3502 Marth Rockhampton QLD 47071
O Perth 26 Division Street Welshpool WA 6106 Postal Address: PO Box 1124 North Rockhampton QLD 47071
Telephone: (08) 9358 1788 Facsimile: (08) 9268 17332 Telephone: (07) 4921 097 & Facsimile: (07) 4921 0281

A division of CMI Operations Pty Ltd
ABN 87 088 279 270

For all account enquiries Phone (02) 8273 1320 Fax (02) 9208 4977

Termination and Maintenance Instructions
300/425A Spigot Gland Adaptor (F-3370)

This Gland Adaptor is certified to IECEx 13.0009U for use with a CMI certified bracket (AV3) and CMI certified No 2 to 5 Glands.

Installation
e  Confirm Gland Adaptor is suitable for application e.g. cable size.
e  Gland Adaptor fitment:

1. Check all surfaces for damage that may prevent assembly

2. Check and clean all mating parts, O’ring and threads

3. Place O’ring in allocated groove on Spigot Gland Adaptor (Figure 1)

4. TInsert all four M12x 50 mm bolts into Receptacle mounting holes

5. Assemble Receptacle onto Bracket by aligning and inserting bolts into corresponding Bracket holes

6. Place Adaptor plate surface with O’ring onto opposite side of Bracket and align four threaded holes
with corresponding Receptacle bolts

7. Fully fasten all bolts into Adaptor. Tightening torque 20Nm (min)

8. Continue assembly of Receptacle or Gland by referring to relevant Installation Instructions

HOLES
X 1.75-6 M12 x 50mm BOLTS
\ 4 PLACES
Ir)‘;_)
I
1
\
dinc o 4 ORING
WITH A UAX 04 GAP) GROOVE

Use
e  [solate power before connecting or disconnecting.
Assembly
®  As per Installation notes (above)
Disassembly
e Detach Gland from Gland Adaptor
e  Unfasten all M12x 50 mm bolts and remove Receptacle from Bracket
e  Continue disassembly of Receptacle and Gland by referring to relevant Installation Instructions
Maintenance

e Inspection shall include cleanliness and compliance with certification documentation.
Conditions of use

e To be attached to suitable certified Receptacle and Gland

This brochure is distributed with the understanding that the authors and editors are not responsible for the results of any actions taken on the basis of the information in this work, or any errors or omission. Further, Minto
Industrial Products is not engaged in rendering professional services. Minto Industrial Products expressly disclaims all and any liability to any person in respect of anything and of the consequences of anything done or
omitted to be done by any such person in reliance whether whole or partial of the whole or any part of the contents of this publication. All rights reserved. No part of this work covered by copyright may be reproduced or
copied in any form or by any means without the written permission of Minto Industrial Products.

200 Man,
> "

PE cables @Hmmn CABLES
Global-Mark com.au®

TGA-7 Spigot Gland Adaptor Termination and Maintenance instruction Page 2
RevA 27/03/2018

G"‘ i i OAFLEX CABLES
i

Gua;,‘;
&
muﬁo




	F-3222 Rev ORG (No 5 Gland Assembly)
	F-3370 Rev ORG (Spigot Gland Adaptor)
	F-3393 Rev ORG (No 4 Gland Assembly)
	F-4087 Rev ORG (No 2 Gland Assembly)
	F-4088 Rev ORG (No 3 Gland Assembly)
	F-4617 Rev ORG  (Threaded Gland Adaptor)
	F-4649 Rev ORG (Threaded Gland Adaptor)
	TCG-1 rev ORG (Termination & Installation Instructions) 20130412



